[image: image1.png](a) Complete ALL entries in the inventory record (showing the cost per kilogram in £ to THREE decimal
places), including balances at the end of each day. Only one entry is permitted per inventory record

cell.
Material P Receipts Issues Balance
oate Costper Total Costper Total Quantity Total
kg (£) cost (£) (kg) kg (£) cost (£) (kg) cost(£)
Balance at 1 December 8000 18000|
6 December 4800 2150 10320) 12800 28320
13 December 7200 2250 16200 5600 12120)
20 December 12000) 2.210) 17600 38640
27 December 4800 2.167| 10400 12800 28240







CBT sample assessment model answers

Costs and Revenues (CSTR)
Sample assessment 1

Task 1 
[image: image18.jpg]aat





[image: image2.png]Broadsword is considering the effect of using the last n first out (LIFO) method of inventory valuation in its
internal management accounts.

(b) Complete the sentence below.

Usingthe LIFO method, the issue of 7,200 kilograms to production on 13 December would be valued

atatotalof £ [ 15720]






Task 2 
[image: image3.png]Below are extracts from Broadsword Ltds payroll for last week.

Plastic exirusion manufacturing
production employees’ pay £5.300

10 December

Plastic moulding manufacturing

12December production employees’ pay £6,600

14December | Stores department employees’ pay £1,400

16 December | General administration depariment staff salaries £2,600

Complete the cost journal entries to record the four payroll payments made last week.

10 December (6400 Plastic extrusion direct costs 5300
10 December (5000 Wages control account 5300
12 December (6500 Plastic moulding direct costs 6,600
12 December (5000 Wages control account 6,600
14 December (7200 Operating overheads 1,400
14 December (5000 Wages control account 1,400
16 December (8300 Non-operating overheads 2600
16 December (5000 Wages control account 2600






Task 3 
[image: image4.png]Some of Broadsword Ltd's employees working in its Plastic Moulding department work in teams
Their basic hourly rate is £12.00 per hour and there are two rates of overtime s follows:

Overtime rate 1 -time and a quarter (basic rate plus an overime premium equal to  quarter of basic pay)
Overtime rate 2 -time and a half (basic rate plus an overime premium equalto halfof basic pay)

Broadsword sets atargetfor production of every plastic component each month. A team bonus equal to 20%
of basic hourly rate is payable for every equivalent unit of production i the month in excess of e target
The target for December was 20,000 units.

In Decemberthe production was 23,000 equivalent units.
All overtime and bonuses are included s partof the direct labour cost.

(2) Complete the gaps in the table below to calculate the direct labour cost.

Sacreas | s =
FP R R =
po— =





Task 3, continued

[image: image5.png]{b) Calculate the total direct labour cost per equivalent unit of the finished production for December.
Give your answer in £5 to FOUR decimal places.

‘The directlabour cost per equivalent unit for Decemberis £ 05992

Broadsword has forecastthe following information for the Plastic Moulding departmentfor January:

‘The basic hourl rate will be increased o £12.50 per hour. The target for production is stil 20,000 units and
the bonus, equal to 20% of basic hourly ate, is stll payable for equivalent units of production in excess of ths.

18,400 units will be completed in January and the closing work n progress is expected to be 7,000 units
‘which will be 80% complete with regard to labour. No opening workin progress was expected atthe start of
January.

(c) Complete the following sentence by fillng in the blanks.

“The equivalent units of production with regard to labour for January will be. 24000] andthe

bonus payable will be £ 10000]






 Task 4 
[image: image6.png]for machinery

Basis of

apportionment

Depreciation charge |Camying amount of machinery

Plastic
extrusion
£

83330

Plastic
moulding
£

44870

Maintenance
£

Stores.
£

General
admin
stration
£

128200)

Variable machine
running costs

[Number of machine hours

96100

Rent and rates of
premises

[Floor space

7290

7290

2430

4860

2430

24300

Light heat and
powerfor premises

[Floor space

4830

4830

1610

3220

1610

16100)

Indirect labour

[Allocated

18240

20900

54340)

Totals.

160798

87742]

19240

26320

24940

319040

Reapportion
Waintenance

13488

5772

19240

Reapportion Stores

17108

9212|

26320

Reapportion
General
administration

12470

12470

24940

Total overheads to
proft centres

203844]

115198

319040





Task 5 
[image: image7.png]Broadsword Lid has prepared budgeted overheads and acivty levels for Quarter 1 of next year.
‘The figures for its two production depariments are s follows:

Direct labour hours 5784 hours| 5,904 hours|
Machine hours 1,800 hours| 2,150 hours|
Overheads £130,140) £145.415|

(a) If both the plastic moulding department and the plastic extrusion department were heavily automated,
‘what would the budgeted overhead absorption rate be for each department (to TWO decimal places)?

Quarter 1 budget

'Budgeted overhead absorption rate 72.30] per hour| 68.10] per hour|

(b) If both the plastic moulding department and the plastic extrusion department were labour intensive,
‘what would the budgeted overhead absorption rate be for each department (to TWO decimal places)?

Quarter 1 budget

'Budgeted overhead absorption rate 22.50] per hour| 24.80] per hour|





Task 5, continued
[image: image8.png]Atthe end of Quarter 1 it was found that actual overheads incurred i the plastic moulding department were
£133,154. Overheads were recovered on a machine hours basis. The machine hours worked were 10%.

more than budgeted.

{c) Complete the following sentence by selecting the appropriate response and inserting the correct

amount.

In Quarter 1 overheads for the plastic moulding department were

[over-absorbed il ov £

10,000]






Task 6 
[image: image9.png]Broadsword LId has prepared budgeted information for three of ts products, SW38, TX39 and UY40 for the
nextfinancial year.

Product swss  TXx3e uvao
Sales revenue (£) 97,500 120,600 164,025
Direct materials (£) 31500( 43200  54675|
Directabour (£) 27,000( 39600  50,625|

expects to produce and sel 15,000 units of SW38 and 18,000 units of TX39. The budgeted
% greater than that of SW38. Budgeted total fixed costs are £44,

The compar
sales demand for UY40 is

Complete the table below (to TWO decimal places) to show the budgeted contribution per unit of SW/38,
TX39 and UY40 sold, and the company’s budgeted profit or loss for the year from these products.

uvao Total

Selling price per unit 650 .10
Less: variable costs per unit
Direct material 210 240 270
Directlabour 180 2.20 250
Contribution per unit 260
Sales volume (units) 18000

46800

Total contribution

Less: fxed costs
Budgeted profi v 100000





Task 7 
[image: image10.png]Broadsword Ltd has the following budgeted costs per unit for product LNGO:

Variable costs | Direct materals | 6.2
Directabour 419
Overheads 354
Total variable costs 1400
Fixed costs Overheads 1200
Total costs 2600

Product LSO has a selling price of £39 per unit Budgeted sales volume is 5000 units

(a) Calculate the budgeted fixed overheads for LNGO.

The budgeted fixed overheads for product LNGO are: £ 60000

(b) Calculate the breakeven volume in units for LNGO.

“The breakeven volume for LNGO is 2400] units





Task 7, continued


[image: image11.png](€) Using your answer from part (b) calculate the margin of safety in units and the margin of safety (%) if
Broadsword sells 4000 units of LNGO.

Margin of safety in units 1600

Margin of safety % 40

(d) If Broadsword increases the selling price of LNG0 and allthe other costs remain the same what impact
willthis have on the breakeven point and the margin of safety, assuming no change in sales demand?

“The breakeven point willincrease and the margin of safety will decrease.

‘The breakeven point wil stay the same and the margin of safety will increase.

“The breakeven point willdecrease and the margin of safety willincrease.

‘The breakeven point wil stay the same and the margin of safety will decrease.





Task 7, continued 
[image: image12.png]‘Broadsword has now incurred an additional fixed cost of £20,000.

(€) Complete the table below to calculate:
« the TOTAL number of units that Broadsword must sell to cover the revised fixed cost
« the revised margin of safety (%)
+ the revised margin of safety in sales revenue.

Other than the change in fixed cost you may assume that the sales demand, selling price and all costs
remain as per the budget.

"Number ofunits o cover
the revised fixed cost 2200
Revised margin of »
safety %

Revised margin of

safetyin sales revenue 70200






Task 8 
[image: image13.png](a) Calculate the total cost of one unit of RN36B.

“The total cost of one unit of RN36B is 20] pence.

{b) Calculate the full absorption cost of one nit of RN36B.

‘The full absorption cost of one unit of RN368 is 7] pence.

(c) Calculate the marginal cost of one unit of RN36B.

‘The marginal cost of one unit of RN36B is 1] pence.

(d) Calculate the marginal production cost of one batch of RN36B.

‘The marginal production cost of one batch of RN36Bis £ 8360)

(€) Calculate the full absorption cost of one batch of RN36B.

‘The full absorption cost of one batch of RN36Bis £ [ 12920






Task 9 
[image: image14.png]All operating costs are variable except the fixed overheads.

Complete the table below to show a flexed budget and the resulting variances against this budget for the
‘month. Show the actual variance amount for each cost in the column headed Variance".Identify whether
the variance is Adverse (Adv) or Favourable (Fav). Do not use brackets or minus signs.

Number of batches

Flexed budget

Actual

Raw material PGB 37375 40,085 2690

L T e
Er— | oo o
Unskilled labour 31510 34,870 3360

—— | wm| e =

| wm| e

] o] e[l






Task 10 
[image: image15.png](a) Complete the table below to calculate the net present value of the project (to the nearest £000).
You MUST enter minus signs where appropriate, and round to TWO decimal places.

Net cash flows 753| 385 320 125
PV factors 10000 osses| o7sst| osery
Discountedcashflows | 75300 33480  2¢195] 12154
Net presentvalue 5461

(b) Based on the net present value calculated in part (a), should Broadsword accept the project?

Broadsword should accept he project because the net presentvalue is positive

Broadsword should not accept the project because the net present valus is positive

Broadsword should accept the project because the net presentvalue is negative

Broadsword should not acceptthe project because the net presentvalue is negaive





Task 10, continued
[image: image16.png](c) Complete the table below to show the net cash flows, as per part (a), and the cumulative cash flows.
for the project, and calculate the payback period in years and months. You MUST enter minus signs.
‘where appropriate in order to obtain full marks and enter whole numbers only. Partial months must
be rounded up to the next month.

Netcash flows -753] 385| 320 185|
Cumulative cash flows. 753] 368 48 137]
The payback periodis [ 2 |yearsand [_4 | months.

Broadsword requires projects to pay back within 2.5 years.

() Based on the payback period calculated in part (c), should Broadsword accept the project?

Broadsword should acceptthe project because the payback period exceeds 25 years

Broadsword should not acceptthe project because the payback period exceeds 2.5 years

Broadsword should acceptthe project because the payback period is less than 2.5 years

Broadsword should not acceptthe project because the paybackis less than 25 years






Task 10, continued

[image: image17.png](e) Whatis the internal rate of return (IRR) of a project?

The return the company could have made by investing the money elsewhere

The discountfactor that resuits in a positive net presentvalue

The discountfactor that results in a negative net present value

The discount factor that results in a net presentvalue of zero.

() Whatis the approximate internal rate of return (IRR) of the project in part (a)?

0%





